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WA 815 ERE 81.4 1,944 1,469 1,447 0] A
IZACA 29.9 ERE 6.0 - 1,080 - 10 A S
IZALCA R 43 2,700 — 2,484 10 vay M
ES) 35 5 & 2.1 - 3,618 - 10 3L
[E<ELY 1335 ERE 123.0 1,620 616 616 15[ A L
[E<E0LY N 8.0 1512 — 1,296 15 va9 6
HTE 1.6 2 [ 0.8 - 1,728 - 4] yay L
ZEDiE 43 BERE 1.9 2,484 2,376 2,160 4 A M
FrRY 117.8 ERE 101.0 - 2,592 - 0] A 8
Fry = I 10.2 — 1,512 - 0] A 9
IE5NAZES 43 2 [ 2.4 5,184 3,564 3,564 6] A L
hE 12.1 BRE 8.8 1,728 1,728 1,512 3l A LL
hE X & 24 - 1,404 - 3| vay M
Ch¥ 15 kB 1.1 5,832 4,536 4,536 3 M
LwA=E< 0.7 2 [ 0.5 - 4,860 - 3.8] vay L
125 1.9 = I 1.1 7,020 6,480 5,940 5] A M
+)L1)— 1.2 2 0.5 3,780 3,780 3,240 0] A L
T RINSGHR 0.1
Hh)o257— 1.2 BRE 1.1 2,484 2,160 864 5/ A 6
JOyal)— 2.6 BRE 1.3 — 1,685 — 4f A 12
Joyal)— E 15 0.7 8,640 8,640 4,320 6
LARXR 24.0 E & 9.6 5,184 4,860 1,458 0] A 12
LAR BRE 7.9 3,888 3,780 1,220 10 12
FoTYA 1.0 BRE 0.4 2,160 — 2,052 4f A L
5l 25.7 BRE 21.2 2,808 2,700 2,592 5/ A M
=p5Y ElG 3.7 2,916 — 2,592 5] A M
ANESSED) 11.2 A¥LO 9.4 2,916 — 2,646 10] vay 5
ANESSES) BRE 1.8 — 4104 — 0] A 4L
Y 2.0 E X 1.7 2851 — 2,756 8
B =l 0.2 - 1,944 — 5/ B LL
<k 6.1 E X 4.2 400 238 238 0.5
e X & 0.7 — 1,836 — 4 A 24
I=kTh 3.1 BRE 2.0 248 216 205 02 A M
E—<> 11.0 BERE 10.4 5,832 4,860 3,888 7.8 A M
F—<y ] 0.5 7,776 — 7,560 5 32
[ZA5Y 0.1 =l 0.1 - 5,616 - 6] A L
SPVAITFA 1.0 BRE 1.0 — 3,024 — 2l A S
SPZAES 1.5 BRE 1.4 — 6,480 — 4
MrAL& 8.9 BRE 8.3 — 1,728 — 5
[ES AT 69.4 £ % 38.9 — 2430 — 10] vay M
[ECTRYNS JtiEE 30.5 — 1,728 — 10
[Ehi L JtiEE - 2,700 — 10] vay L
=L 2.8 BRE 2.8 — 3,240 — 5/ A
AL 5.4 "5 & 45 5,400 - 4860 0] A 3L
f=Fh&E 449 dtiEE 449 - 3,348 — 20 A L
f=FhE JeiEE - 1,512 - 10
ELLV=T 2.0 BRE 0.2 184 - 108 0.1 Y M
HELLV=IT =l 1.3 216 184 173 0.1 A M
ZDEET 5.7 K & 35 70 — 65 0.1 A
ZDEET BRE 0.5 — 65 — 0.1 A
LHL 2.3 2 [ 2.2 140 130 119 0.2
ESES T 638.6
B=
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BMAHMAEE 215
A B M 21.3 B X 8.5 5,400 5,400 3,240 10 L
AR M B X 6,588 5,940 3,564 10 M
A B M B X 6,480 5,940 5,724 10 S
B4R ol | 8.4 — 4,320 — 10] a9 L
B4R ol | - 5,400 — 10] a9 M
B4R ol | - 5,400 — 10] a9 S
iR 0.2 B X 0.2 - - - PR L
iR B X - - — PR M
iR B K — 6,480 — 10 A S
B 4.0 BRE 4.0 4,860 4,320 3,780 5| 7hva L
LEY 1.1 F 0.4 9,180 8,100 7,560 17 115
INLULT 0.7 = I 0.7 7,776 7,776 7,560 17 88
L7y 0.1 = M 0.1 — 6,480 — 15 48
SADMA 1.6 BRE 1.5 1,080 — 864 1 LL
L5 0.9 BRE 0.9 4,320 4104 3,888 3l A 6L
HhohrAED 3.3 BERE 24 — 2376 — 4f A LL
YAZE 6.7
23 F3ILK 0.1 "5 & 0.1 - 7,020 - 10[ MA 40
AL 6.2 £ B 3.2 5,184 — 4,860 10l vay 28
E# 0.3 5 & 0.3 6,048 5,616 4,968 10| FA
ZRDMYAZ 0.1 "5 & 0.1 - 6,264 - 10[ MA 32
FEEAL 0.5 "5 & - 3,780 - 5| bya 12
WEET 9.6
=45 3.3 2 [ 3.3 - 2,808 — 5| 742 L
ZTDHMEME 6.4 E 1B 6.3 — 3,672 - 75| 74va 3L
W5 3.1 BRE 1.2 2,160 1,620 648 025 A LL
AOVEF 5.0
7—ILA 3.8 EES 2.3 - 4,860 — 8 M
ZRAOY 1.1 B A 0.7 — 3,780 — 5 van 4L
FULIEE
ERAYA
INTT 12.0 EVEY 11.9 4,320 3,694 3,456 15
NAFvTIL 3.0 EUEY 3.0 3,564 1,620 1,620 10 8
FoA4T)LY 1.4 —oP 0.6 4,212 4,050 3,888 75 4
REHET 75.8




